What Happened When the
Boarding House Blew Up?

Factor each trinomial below. Find one of the faciors in each column of hincmials. Notice the
letter next to one factor and the number next io the other. Write the letter in the box at the
bottom of the page that contains the matching number.

@ 32+ Tx+ 2
2) 2x° +5x+ 3
(3) 3 —16x +5
(4) 7x2-9x+2
@ 6u® + 5u + 1

8u® — 9u + 1
7) 102 +17u+3

®
@
QU —Qu +2

5u°+ 11u+6

©

(x+1)

«w
—~——
(8]
=
+
2

®)
®
&)
(6) (cu+3)
(9
©
Q
P
@),

®
=7 (a) (3t+1) (2t + 1)
(2 2n®+5n-3 ’
% 7n2—-:133n—2 9 -2 -+
(4) 32+ 14t -5 @ @+ (+9)
@5 42— 11t+7 @) @n-1) (5n+ 1)
612 + 5t — 1 @n—1) t=7)
) s 20t—7 (4) G6t-7) (7n + 1)
\ (1) @t-7) (6t — 1)

—
o
(#%]
N
(@)
(o))
-\j
0 ¢}
w
—
o
—h
oo
N
—
w

14

—_
(8]
—t
(o)}

OBJECTIVE 3—0: To factor trinomials of the form ax® + bx + ¢, ALGEBRA WITH PIZZAZZ!
where a is a positive integer greater than 1. © Creative Publications 91
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where a is a positive integer greater than 1.

OBJECTIVE 3—c: To factor trinomials of the form ax® + bx + ¢,

ALGEBRA WITH PIZZAZZ}
© Creative Publications
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AN EXTREME BUT EFFECTIVE WAY TO DIET IS
TO FIND {T: _

Factor each trinomial below. Find the factored form in the set of answers under
the exercise and cross out the letter above it. When you finish, the diet will
remain. You might call it the “Algebra diet.” .

e .g.

(1) m*+8m+7 (7) d?—8d+ 15 (3 x*+ 5xy + 4y°

(2) m*+5m+6 (8) d*—12d+20 (4 x— 18xy -+ 32y
(3) m*+10m+9 (9) d?+14d+13 (15) x2 - 13xy + 40y
(4) m*—6m+8 (0) o?— 13d +36 (6) x>+ 7xy + 12y°
(5) m?—8m+12 1) d®+17d +30 (7) x® - 27xy + 26y
(6) m?+11m +24 (2 d*>+9d+18 (i8) X2+ 19xy + 60y°
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L.,Ox/:mU Factor each trinomial below. Find the factored form in the answer column nearest
(t—4)(t+5) | the exercise, and notice the word beneath it. Write this word in the box containing
ARMY the letter of that exercise. Keep working and you will hear about a kitty cat.
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Kuta Software - Infinite Algebra 1
Factoring Trinomials
Factor each completely.

1) 3p*-2p-5

3) 3n’-8n+4

3 2P+ 11v+5

7) 7a%+53a + 28

9) 1502 -27n -6

11) 4n*— 15725

13) 4n* - 17n+4

15) 6x*+37x+6

17} 6n*+5n—6

Name

2) 2n*+3n -9

4) 5p¥+19n+12

6) 20 +5n+2

R) 9k* + 66k +21

10) 5x*—18x+9

12) 4x* - 35x+ 49

14) 6x% +7x—49

16) ~6a* - 25a ~25

18) 165% + 60b — 100



Kuta Software - Infinite Algebra 1
Factoring Trinomials
Factor each completely.
1) 3p?-2p-5

(Bp=5¥p+1)

3) 3t -8n+4
(31 =D(n-12)

5) WP+ 11v+5
(2v+ D{v+5)

7) 7a* +353a + 28
(Ta+4)¥a+T)

- 9) 1502 -27n—6
35n+1)n—2)

11) 4n* - 15n-25
{(n—5¥dn+3)

13) 4n?—17n+4
{(n—4)4n - 1)

15) 6x* +37x+6
{x+6)}6x+1)

17) 6n* +5n~6
(2n+3)@n-2)

Name ANSD€ES

2) 2n?+3n-9
(Zn-3)n+3)

4) 5n*+19n+12
Gn+4Hn+3)

6) 2n*+5n+2
Qn+1D(n+2)

8) 9k* + 66k + 21
303k + Dk +7)

10) 5x*~18x+9
(Sx—3)x-3)

12) 4x*—35x + 49
(x—TEx-T)

14) 6x* +7x—~49
Bx-72x+7)

16) ~6a*~25a 25
—(2a+5¥3a+35)

18) 16b% + 60k — 100
4B + 5)(4b — 3)



